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HEEBMERE

2| @EHE | WNE |HERS| wmE | He (ERea| — ® # BEH | B |(pEoLEg SELE | gEARLE

Ax E/& | Z0ih

MRS 125 | 7IGEM| Bk 66 340 | 2,006.27 | 749.25 405.21 | 3,160.73 4 9,500,000 (k) & B AR#
FRIES 4718 [SUER | ER 62 566 | 1,036.71 | 2,331.37 241.84 | 3,609.92 1 4,000,000 |ELXRFFMHES

KR 1082% |7UEM| Bk 52 5.67 127.40 | 1,870.07 1,371.44 | 3,368.91 3 13,580,000 (Bk) FEEBAAE
FE 1020y [UREM| Bk 61 168 |[1,01953 | 16.62 551.93 | 1,588.08 1 2,800,000 | (1) EEAM TS
m/a 1003k [7UEM| BEiR 58 421 | 1,180.40 | 1,384.16 420.78 | 2,985.34 1 5,500,000 | (1) EEAM IS

B/ B 1003f= | UER| Bk 64 1.94 932.63 1.64 30456 | 1,238.83 1 1,900,000 (%) EZEAM TG
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W1 0 &

1
Ve AR

T E T = A & 4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5 - 7 O OL O R 12 % 66 Bk H 3. 40
O 4 ok R RE AR X 93 I O == B A B CZ I

A X SR AESER — bt & R 16 15 8 1.28

18 18 51 11.73

20 20 70 21.70

22 22 99 40.59

24 22 125 60.00

26 23 140 82.60

28 24 153 107.10

30 24 187 147.73

32 24 164 144.32

34 25 177 178.77

36 25 134 148.74

38 26 134 170. 18

40 26 109 150. 42

42 27 84 130.20

14 27 62 104. 16

46 27 46 83.26

48 27 45 87.30

50 26 32 64.00

52 26 27 57.78

54 27 21 49.56

M m



W1 0 &

2
Ve AR

T E T = A & 4 N BE A in B ik i 3 5k 1 (ha)

5 - 7 B OJL W B % 66 H 3. 40
L AR R 2 S M & oE & ] A B CZ I

A X AERVA N — bt 15 Hinspk 56 27 17 42.67

58 28 17 46.92

60 28 5 14.60

62 26 2 5.72

64 28 1 3.25

66 30 1 3.66

68 28 2 7.18

- AR 16 15 1 0.16

18 18 5 1.15

20 20 15 4.65

22 22 23 9.43

24 22 26 12.48

26 23 22 12.98

B 10 9 3 0.12

12 11 8 0.56

14 13 24 2.64

16 15 38 6.08

18 18 69 15.87

20 20 83 25.73

22 22 67 27. 47

M m




W1 0 &

Ve AR

T E T " M 4 M OBE AN BE K o B ik i 3 5k 1 (ha)

5 - 7 O OL O R 12 % 66 Bk H 3. 40
L AR R o 2 W == B A B CZ I

A X HESTR AESER B 24 22 61 29.28

26 23 46 27.14

28 24 33 23.10

30 24 25 19.75

32 24 22 19.36

34 25 16 16.16

36 25 7 7.77

38 26 4 5.08

10 26 8 11.04

42 27 3 4.65

44 27 2 3.36

16 27 1 1.81

48 27 2 3.88

50 26 1 2.00

KR ] 2,528 2,259.12

[ SR AESER 2% 15 Hinspk 16 18 30 5.70

18 21 65 18.20

20 22 105 37.80

22 22 128 55.04

24 23 129 68.37

M m




W1 0 &

4
Ve AR

T E T = A & 4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5 - 7 O OL O R 12 % 66 Bk H 3. 40
L AR R o 2 O == B A B CZ I

B /X AESTR AERYAZN — bt 15 Hinspk 26 23 165 100. 65

28 23 135 93.15

30 24 124 101.68

32 24 82 75. 44

34 24 50 51.00

36 23 24 25.92

38 23 22 26.18

40 23 9 11.79

12 24 8 11.92

44 24 2 3.24

46 24 5 8.80

18 24 3 5.70

52 21 1 1.90

- AR 16 18 6 1.14

18 21 6 1.68

20 22 33 11.88

22 22 21 9.03

24 23 17 9.01

26 23 23 14.03

B 10 9 2 0.08

M m



W1 0 &

Ve AR

T E T A w4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5 - 7 o oL A 12 % 66 B H 3.40
L AR R o 2 O == B A B CZ I

[ HESTR AESER B 12 10 6 0.36

14 14 38 4.18

16 18 53 10.07

18 21 65 18.20

20 22 51 18.36

22 22 53 22.79

24 23 40 21.20

26 23 18 10.98

28 23 17 11.73

30 24 15 12.30

32 24 9 8.28

34 24 1 1.08

36 23 4 4.32

38 23 1 1.19

10 23 2 2.62

44 24 1 1.62

HITEE] 1,572 901.61

Nzt 4,100 3,160.73

At 4,100 3,160.73

M m
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W1 0 &

1
Ve AR
N BE i B ik i 3 5k 1 (ha)
I 1 5.66
I e ] % i

— bt 16 15 19 3.04
18 18 72 16.56

20 20 90 27.90

22 21 120 46. 80

24 22 157 75.36

26 23 182 107.38

28 23 217 145.39

30 24 183 144.57

32 25 129 118.68

34 25 102 103.02

36 25 65 72.15

38 25 38 16.36

40 26 22 30.36

42 26 23 34.50

14 26 8 12.96

46 26 7 12.18

48 26 4 7.48

50 27 2 1.16

52 27 3 6.66

56 28 1 2.60

M m



W1 0 &

2
VAR ARG B
/N BE i TR 07 1k i 2 05 1 EfE (ha)
[FS 1 5.66
Mo T 7 [ % F
— bt 62 25 1 .76
64 27 1 .13
16 15 1 .64
18 18 1 .23
20 20 3 .93
22 21 10 .90
24 22 6 . 88
26 23 7 .13
EEH 10 10 1 .04
12 9 7 .35
14 12 17 .70
16 15 7 12
18 18 12 .76
20 20 7 17
22 21 9 .51
24 22 15 .20
26 23 10 .90
28 23 2 .34
30 24 3 .37
32 25 3 .76

M m



W1 0 &

Ve AR

T E T = A & 4 AN BE o B ik i 3 5k 1 (ha)

5 - 8 # R B8 62 H 5.66
L AR R 2 == ] % CZ I

A AERVA N IR 34 25 1 1.01

36 25 5 5.55

10 26 1 1.38

42 26 1 1.50

HITEE] 1,578 1,077. 37

B/ % LSV N — 16 15 102 16.32

18 16 201 42.21

20 17 298 80. 46

22 18 145 155. 75

24 19 500 215.00

26 20 461 239.72

28 21 140 277.20

30 22 327 245. 25

32 22 285 239. 40

34 23 195 191.10

36 23 146 157.68

38 24 89 111.25

10 25 72 102.96

42 25 37 57.72

44 25 24 40. 80

M m




W1 0 &

4
Ve AR

T E T A w4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5 - 8 # R 47 s 62 Bk H 5.66
O 4 ok R RE AR X 93 I O == B A B CZ I

[ SR AESER — bt & R 46 26 10 19.10

48 26 4 8.28

50 27 1 2.31

52 27 1 2.48

- AR 16 15 15 2. 40

18 16 66 13.86

20 17 67 18.09

22 18 71 24. 85

24 19 74 31.82

26 20 68 35.36

IRE 10 10 25 1.00

12 12 70 1.90

14 14 119 13.09

16 15 104 16.64

18 16 125 26.25

20 17 107 28. 89

22 18 64 22.40

24 19 37 15.91

26 20 44 22.88

28 21 20 12.60

M m



W1 0 &

Ve AR B

i E A4 /N BE i B 7 ik W 3 5 1 i (ha)

b - *# R 8 H 5.66
B R 4 £ Rl ZI 7 e A K I

(e S ASRTAZ N RE A 30 22 12 9.00

32 22 14 11.76

34 23 4 3.92

36 23 3 3.24

38 24 2 2.50

40 25 3 4.29

46 26 1 1.91

AR 4,753 2,532.55

Nzl 6,331 3,609.92

G 6,331 3,609.92

M m
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W1 0 &

1
Ve AR

T E T A w4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5 - 9 A B R 1082 % 52 Bk H 5.67
O 4 ok R RE AR X 93 I O == B A B CZ I

A X SR AESER — bt & R 18 20 1 0.26

20 17 1 0.27

20 22 1 0.35

20 23 2 0.72

22 18 1 0.34

22 22 1 0.41

22 23 2 0.86

24 23 4 2.04

24 24 1 0.53

24 25 2 1.10

26 24 1 0.61

26 25 7 4.48

28 22 1 0.64

28 24 2 1.40

28 25 12 8.76

30 21 1 0.69

30 23 4 3.04

30 25 14 11.62

30 26 1 0.86

32 23 2 1.68

M m



W1 0 &

2
Ve AR

T E T = A & 4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5 - 9 A B R 1082 % 52 Bk H 5.67
O 4 ok R RE AR X 93 I O == B A B CZ I

A X SR AESER — bt & R 32 25 9 8.28

32 26 1 0.95

34 23 1 0.93

34 25 13 13.13

34 26 3 3.15

36 23 1 1.03

36 24 1 1.07

36 25 9 9.99

36 26 3 3.48

38 23 1 1.12

38 24 1 1.17

38 25 7 8.54

38 26 6 7.62

40 25 1 1.33

10 26 7 9.66

42 25 4 5.76

42 26 1 1.50

14 25 3 1.68

46 24 1 1.61

46 26 1 1.74

M m



W1 0 &

3
P AR

FEEE E A 4 e BE /N BE K o TR 07 1k it 3 7 vk EfE (ha)

5 - 9 X B R 1082 % 52 Hafk B 5.67
L AR R o 2 W g & oA B & A K L7

Z X HESTAR AERVA N B 16 18 1 0.19

18 18 2 0.46

18 20 3 0.78

18 23 1 0.30

20 20 3 0.93

20 22 1 0.35

20 23 4 1.44

22 18 2 0.68

22 19 2 0.72

22 20 6 2.22

22 23 6 2.58

22 24 3 1.35

22 25 1 0.47

24 21 2 0.92

24 23 6 3.06

24 25 2 1.10

26 20 2 1.02

26 21 1 0.53

26 23 3 1.77

26 25 2 1.28

M m



W1 0 &

4
Ve AR
7 E & = A & 4 N BE i B ik i 3 5k 1 (ha)
5 - X % %) ! 5.67
L AR R 2 e ] % i
Z X HESTR B 28 22 1 0.64
28 25 4 2.92
30 23 1 3.04
30 24 2 1.58
30 25 8 6.64
32 24 2 1.76
32 25 4 3.68
34 24 1 0.97
34 25 2 2.02
36 25 2 2.22
40 25 1 1.33
14 25 1 1.56
IR 220 177.91
v /% LEERVAZ N %) 14 15 1 0.12
16 16 9 1.53
18 16 117 24.57
20 17 489 132.03
22 17 742 244. 86
24 17 930 353. 40
26 17 789 347.16

M m



W1 0 &

5
Ve AR

T E T A w4 M OBE AN BE K o B ik i 3 5k 1 (ha)

5 - 9 A B R 1082 % 52 Bk B 5.67
L AR R o 2 O == B A B CZ I

B /X AESTR AERYAZN — bt 15 Hinspk 28 18 582 308. 46

30 18 348 208. 80

32 18 171 116.28

34 19 84 67.20

36 19 37 32.56

38 21 16 17.28

40 22 8 10.00

42 22 2 2.72

14 23 2 3.10

RE A 10 12 1 0.05

12 15 2 0.18

14 15 85 10.20

16 16 408 69.36

18 16 731 153.51

20 17 797 215.19

22 17 778 256. 74

24 17 581 220.78

26 17 383 168.52

28 18 215 113.95

30 18 97 58.20

M m



W1 0 &

6
Ve AR B
i E #E 4 BE /N BE th X N B 7 ik W 3 5 1 i (ha)
5 - 9 PN 1082 % 52 2254 B 5.67
B R 4 £ Rl HE £ X 4y ZI T s E A i A K I
(e S AR AERTAZ N RE A 32 18 46 31.28
34 19 16 12.80
36 19 7 6.16
38 21 1 1.08
40 22 1 1.25
16 23 1 1.68
TR T 8,477 3,191.00
Nt 8,697 3,368.91

ot 8,697 3,368.91

M m
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W1 0 &

Ve AR

T E T = A & 4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5- 10 = & 102 W 61 Hafk B 1.68
O 4 ok R RE AR X 93 I O == B A B CZ I

A X SR AESER — bt & R 16 15 1 0.16

18 17 16 3.52

20 19 51 16.20

22 20 95 35.15

24 20 121 53.24

26 21 180 95.40

28 21 194 118. 34

30 22 179 130. 67

32 22 155 125.55

34 22 105 93. 45

36 22 64 62.72

38 22 39 12.12

40 22 35 40.95

42 21 27 32.67

14 22 26 35.62

46 23 9 13.86

48 25 8 14. 40

50 26 7 14.00

52 24 1 1.97

- AR 16 15 1 0.16

M m




W1 0 &

2
P AR

FoEE S E A % 4 e BE /N BE X ANl TR 07 1k it 3 7 vk EfE (ha)

5- 10 == e 102 A 61 Haf B 1.68
B O 4 BB e kR X 4y Mo W H g & oA B & A K L7

A X SR AESER — bt fHl - 4R 18 17 3 0.66

20 19 22 6.60

22 20 36 13.32

24 20 60 26. 40

26 21 80 42. 40

NEY) 16 15 8 1.28

18 17 33 7.26

20 19 49 14.70

22 20 90 33.30

24 20 105 46.20

26 21 99 52.47

28 21 84 51.24

30 22 96 70.08

32 22 81 65.61

34 22 63 56.07

36 22 49 48.02

38 22 30 32.40

40 22 26 30.42

42 21 13 15.73

44 22 8 10.96

M m



W1 0 &

3
Ve AR
T E T = A & 4 M OBE AN BE K o B ik i 3 5k 1 (ha)
5- 10 = & 102 W 61 Hafk B 1.68
L AR R o 2 W == B A B CZ I
A SR AENTR =y 46 23 2 3.08
48 25 4 7.20
FFEE] 2,358 1,565.55
[ SR AESER — bt 15 Hinspk 18 16 1 0.21
18 18 1 0.24
20 15 1 0.24
22 15 1 0.29
24 17 1 0.38
24 18 2 0.80
26 20 1 0.52
28 15 2 0.88
28 17 1 0.50
28 18 2 1.06
28 22 1 0.66
30 15 1 0.50
30 18 1 0.60
30 19 1 0.64
32 16 1 0.60
32 18 1 0.68
34 14 1 0.58

M m



W1 0 &

M m

Ve AR

T E T = A & 4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5- 10 = & 102 W 61 Hafk B 1.68
L AR R o 2 O == B A B CZ I

[ SR AESER — bt 15 Hinspk 34 17 1 0.71

34 19 1 0.80

36 16 1 0.74

38 13 1 0.65

40 16 1 0.89

10 18 2 2.02

44 18 1 1.19

- AR 20 15 1 0.24

NEY) 18 13 1 0.17

18 14 1 0.18

18 15 1 0.20

22 22 1 0.43

24 12 1 0.26

24 18 1 0.40

26 14 1 0.36

26 16 1 0.41

28 16 1 0.47

30 16 1 0.53

34 23 1 0.98

36 16 1 0.74




W1 0 &

5

(TS iNERi
EE T 4 e BE /N BE th X N B 77 1k i 3 7 vk 7% (ha)
5- 10 == & 102 A 61 Berk B 1.68
B R 4 £ Rl HE £ X 4y ZI T s E A i A K L2
(e S HESTR AERTAZ N RE A 36 17 1 0.78
A 42 22.53
N7 2,400 1,588.08
&% 2,400 1,588.08

M m
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W1 0 &

Ve AR

T E T = A & 4 M OBE AN BE K o B ik i 3 5k 1 (ha)

5- 12 i A 1003 X 58 Hafk B 4. 21
L AR R o 2 W == B A B CZ I

A X SR AESER — bt 15 Hinspk 16 14 9 1.35

18 16 27 5.67

20 18 73 20. 44

22 20 90 33.30

24 22 161 77.28

26 23 220 129.80

28 23 208 139.36

30 24 213 168.27

32 24 184 161.92

34 25 109 110.09

36 26 89 103. 24

38 26 52 66.04

40 27 20 28.60

42 28 21 33.81

14 28 10 17.40

46 28 6 11.28

48 28 8 16.08

50 24 2 3.70

fHl - 4R 18 16 3 0.63

20 18 11 3.08

M m




W1 0 &

M m

P AR

FEEE " M 4 e BE /N BE K o TR 07 1k it 3 7 vk EfE (ha)

5- 12 i A 1003 X 58 Hafk B 4.21
L AR R o 2 W g & oA B & A K L7

A X HESTR AESER — bt fHl - 4R 22 20 27 9.99

24 22 31 14.88

26 23 11 24.19

B 10 8 1 0.03

12 9 16 0.80

14 12 16 1.60

16 14 34 5.10

18 16 31 6.51

20 18 14 12.32

22 20 48 17.76

24 22 46 22.08

26 23 47 27.173

28 23 23 15. 41

30 24 29 22.91

32 24 19 16.72

34 25 10 10.10

36 26 5 5.80

38 26 2 2.54

40 27 1 1.43

42 28 1 1.61




W1 0 &

3
Ve AR
T E T = A & 4 M OBE AN BE K o B ik i 3 5k 1 (ha)
5- 12 i A 1003 X 58 Hafk B 4. 21
L AR R o 2 W == B A B CZ I
A SR AENTR =y 48 28 1 2.01
MITEE] 1,989 1,352.86
B/ % IR LSV N — Ak 16 16 13 2.21
18 17 65 14.30
20 18 126 36.54
22 18 228 79. 80
24 18 276 110. 40
26 19 309 151. 41
28 19 331 185.36
30 20 253 169.51
32 21 192 153.60
34 21 157 139.73
36 23 104 112.32
38 24 61 76.25
10 25 25 35.75
42 25 7 10.92
44 25 7 11.90
16 24 1 7.04
48 26 2 4. 14
52 24 2 4.38

M m



W1 0 &

4
P AR

FEEE E A 4 e BE /N BE K o TR 07 1k it 3 7 vk EfE (ha)

5- 12 i A 1003 X 58 Hafk B 4.21
L AR R o 2 W g & oA B & A K L7

[ HESTR AESER — bt fHl - 4R 16 16 4 0.68

18 17 13 2.86

20 18 35 10. 15

22 18 38 13.30

24 18 69 27.60

26 19 19 24.01

B 12 14 1 0.08

14 16 5 0.65

16 16 33 5.61

18 17 56 12.32

20 18 71 20.59

22 18 81 28.35

24 18 75 30.00

26 19 71 34.79

28 19 18 26. 88

30 20 44 29. 48

32 21 33 26. 40

34 21 11 9.79

36 23 8 8.64

38 24 7 8.75

M m



W1 0 &

5
Ve AR B
i E #E 4 /N BE N B 7 ik i (ha)
5- 12 mo & x 58 2254 4.21
B R 4 £ Rl ZI s E A i i
s AERVA N B 40 25 .29
44 25 .70
IR 1,632.48
N7 2,985. 34
A% 2,985.34

M m



W1 0 &

Ve AR

T E T A w4 M OBE AN BE K A in B ik i 3 5k 1 (ha)

5- 13 w8 1003 7z 64 Bk H 1.94
O 4 ok R RE AR X 93 I O == B A B CZ I

A X SR AESER — bt & R 16 13 5 0.65

18 14 19 3.42

20 16 62 15.50

22 18 83 28.22

24 20 143 62.92

26 21 179 94.87

28 22 209 133.76

30 23 192 145.92

32 23 156 131.04

34 24 118 114. 46

36 23 56 57.68

38 22 29 31.32

40 21 19 21.28

42 23 8 10. 64

14 24 2 3.00

46 25 7 11.76

48 24 1 1.73

50 24 3 5.55

64 28 1 3.25

- AR 16 13 2 0.26

M m




W1 0 &

M m

P AR

FoEE S H 4 e BE /N BE X ANl TR 07 1k it 3 7 vk EfE (ha)

5- 13 moo s 1003 7= 64 Haf B 1.94
B O 4 BB e kR X 4y Mo W H g & oA B & A K L7

A X SR AESER — bt fHl - 4R 18 14 9 1.62

20 16 17 4.25

22 18 23 7.82

24 20 43 18.92

26 21 43 22.79

NEY) 10 7 14 0.42

12 9 37 1.85

14 12 69 6.90

16 13 103 13.39

18 14 111 19.98

20 16 118 29.50

22 18 112 38.08

24 20 100 44.00

26 21 72 38.16

28 22 12 26. 88

30 23 42 31.92

32 23 18 15.12

34 24 15 14.55

36 23 10 10.30

38 22 3 3.24




W1 0 &

3
Ve AR B
i E #E A4 BE /N BE th X N B 7 ik W 3 5 1 i (ha)
5- 13 mo & 1003 7= 64 2254 B 1.94
B R 4 £ Rl HE £ X 4y ZI T s E A i A K I
A HESTR AERVA N IR 40 21 1 1.12
42 23 4 5.32
48 24 1 1.73
54 24 1 2.10
A 2,302 1,237.19
(S S LSV N AENrR — ks e itk 24 L7 1 0.38
44 19 1 1.26
FFE T 2 1.64
Nzl 2,304 1,238.83

At 2,304 1,238.83

M m



